Homework 14.5.15
Spellings
This week, we have looked at words which end in ‘our’ and how they change with the ‘ous’ suffix.  
humorous, glamorous, vigorous, honorous
Grammar
We’ve practised writing speech within our writing.  After reading more of The Lion, the witch and the wardrobe, we’ve also looked at how to use speech to show different types of characters through what they say and do.
Can you write a short conversation between 2 very different characters?  It could be one happy and one sad or one kind and one mean.
-Use reporting verbs (like ‘said’)
-Use speech marks around the spoken words
-Close speech with punctuation
-Use a comma before the speech if it’s part of a sentence.
Maths
We’ve linked addition to subtraction and then developed our column addition skills.  As we have been really confident with this, have moved to estimating what you expect an answer to be.  e.g. 199 + 199 is nearly 200+200 so I would expect my answer to be nearly 400.
Can you use this ‘reasonableness’ to explain what you think the answers to these questions will be and why?
350 + 250        99 + 449       210 + 999           0.1 + 0.9
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